TD 32. Corrigé.

Exercice 1
10
3x=5)20

X —o0 _9 3 +00
2 3
Signe de 3x—5 - - 0
Signe de —2x—9 + 0 -
Signe de (3x—5)(—2x—9) - 0 + 0 -
23
2°
(2x+1)(x=3)<5(2x+1) = (2x+1)(x=3)=5(2x+1)<0
= (2x+1)(x-3-5)<0
= (2x+1)(x-8)<0
2x+1=0 = x:—% et x—8=0 < x=8
X —% _1 8 +00
2
Signe de 2x+1 - 0 + +
Sighede x—8 - - 0 +
Signe de (2x+1) (x—S) + 0 - 0 +
S :|:—l;8:|
2
Exercice 2

1° Graphiquement f(x)= g(x) on obtient S :{—%;2}

2° Graphiquement a =-2 et b=4 .Donc g(x) =—2x+4

3° (2-x)(2x+3) =4x+6-2x2-3x = 2x2+x+6 = f(x)

4 f(x)2g(x) = (2-x)(2x+3) =2 2x+4 = (2-x)(2x+3)22(-x+2) = (2-x)(2x+3)-2(2-x)=0
Donc f(x)=g(x) = (2-x)(2x+3-2)20 = (2-x)(2x+1)=0

2=-x=0e x=2et2x+1=0= x=-1/2

X 1
—00 - 2 +00
2
Sighede 2x+1 - 0 + +
Sighede 2—x + + 0 -
Signe de (3x—5)(—2x—9) - 0 + 0 -

On trouve bien S = [—%;2}



